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DAY 1 RESOURCES: a

THINK:
How much orange juice is there in 20 bottles like this one?
Can you think of more than one way to solve ite

Quallty FArst
Crange Juice
414 ml L
SEE:
Watch this video to see different methods of solving the problem.
Method 1: =

414 x 20 is the same as 414 x 10, two times!

AQuaIi’ry First EQucafion Trust

To multiply by 10, move the digits on a place value - ,:m Do
grid like this one (or do it in your head) —

414 x 10 = 4140 (now | need to multiply this by two
OR add this twice)

4140 x 2 =8180
4140 + 4140 = 8280.

Method 2: 4 1 4
414 x 20 is the same as 414 x 2 x 10.

I will use formal written (column) X 2
method to multiply 414 x 2. 828

414 x 2 = 828. Now | can multiply that by 10.

828 x 10 = 8280.1 got the same answer using both methods so | must be right!

THINK:

How much apple juice is there in 30 bofttles like this one? e
SEE: \ Y

Method 1:

241 x 30 is the same as 241 x 10, three fimes.

241 x 10 =2410.

2410 + 2410+ 2410=7

Method 2: 241

241 x30=241x3x10 X 3 :::,:'VJ::LSL
| will use column method to multiply 241 x 3. W

| need to remember to regroup the 1 from the 12! 241 mi
241 x 3 =723.

723 x 10 = 7230.

DO:

1.)

.) 234 x 10
b.) 234 x 20
C.) 234 x 40

2.)
a.) Multiply 367 by 60.
b.) Find the product of 2304 and 30.

3.)
a.) Show 2 different methods to solve 3124 x 20
b.) Show 2 different methods to solve 6235 x 30

4.) Think of a word problem to write where you would multiply a 3-digit
number by a multiple of ten.

5.) Explain in steps how you would do one of the methods we learned
today.

Deepening:
Find as many ways as possible to fill in the blanks to make the problem

below as close to 30,000 as possible.

You can use the digits 1, 2, 3, 4, 5, 6,7, 8, 9 once only in each solution.

__x_0=230,000

You can also show the depth of your knowledge by trying some of the
things here.



https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/414570175/2d6ba2545c

DAY 2 RESOURCES:

THINK:

A standard box of strawberries contains 113 strawberries. A
jam company needs 2500 strawberries for strawberry jam.
Would ordering 23 standard boxes of strawberries be
enough for them?

AQuaIity First EQucation Trust

SEE:

Watch this video to see different methods of solving the problem.

Method 1:

23x113isthesame as 20 x 113 and 3 x 113.

| can use the strategy we learned yesterday to do 20 x 113:
20x 113 isthe same as 2 x 10 x 113.

2x113=226.226x 10 =2260. 113
Now I need toworkout 3x 113, ——» x 3
3x113=2339. e
I've just worked out 339
20x 113 =2260

3x113=2339.

Now | need to add these two together to get my total:
2260 + 339 = 2599

Method 2:
For method 2, we will combine the strategies in Method 1, but we'll use Column

Method to put them together. 113
First, we'll multiply the ones from 23 (3) with each digit. ——— X h

Then we'll multiply the tens from 23 (20) with each digit.

“Zero place holder” in the ones column so we can remember
that we're multiplying by a number in the tens 1 -I 3 SR

column.
X 23
12334 TR
2,599

When we multiply by the tens, we must remember to put a W
3

DO:
1.
a.) 563 x 20 d.) 127 x 30
b.) 563 x 4 e.)127x8
c.) 563 x 24 f.) 127 x 38

2.)
a.) Multiply 345 by 72.
b.) Find the product of 2561 and 21.

3.)
a.) Show 2 different methods to solve 2578 x 57
b.) Show 2 different methods to solve 7564 x 39

Deepening:
Put the digits 1, 2, 3 or 4 in the boxes to make these equations
correct:

a.) 2 [l3 b) W42
X .3 X .2

3 E 2 8|}

+.2 6 0 +2840

48¢9¢9 124

You can also show the depth of your knowledge by trying some of
the things here.



https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/414577643/4a611837af

DAY 3 RESOURCES: AQuaIi’ry First Education Trust

? ? ?
THINK: ‘ i |
Cupcakes are baked in batches of 360. Then they ? 2 N2 DO:
are packed into 12 boxes. How many cupcakes are & : 360
there in each boxe 3 ? 7 1.
o2 ? ? a.) 340 =17 = c.)720+36= e.) 920+ 23 =
‘ b.) 3400 +17 = d.) 7200 + 36 = f.) 9200 + 23 =
SEE: Watch this video to see different methods of solving the problem.
2.)

Method 1:

a.) 420 sweets are packed into packets of 14 each. How many

Method 1: packets of sweets are there?

To solve 360 + 12, | can firstly
think about my knowledge
of my times tables. | know
that 3 x 12 =36, so | also
know that 36 + 12=3.1 can
then derive other facts from
this, by making the numbers
10 times bigger. So | also

know that 360 + 12 = 30. oo

(o)

b.) 899 Lego bricks are arranged in 31 rows. How many bricks are
there in each row?e

36 +12=3

360+ 12=30
3.)

If | know that 48 + 12 = 4, what other division facts can | derive from
thate (e.g. | also know that 480 + 12 = 40).

Deepening:
How many different division questions can you come up with where
the answer is 602

W | ve divisi bl . head 3 O Can you choose numbers in the 10s, 100s, 1000s to divide?
e can't always solve division problems in our heads How about dividing decimals?

though, and sometimes we need o use formal methods of 1 2 3 6 0

solving, like this one, which is called the formal written You can also show the depth of your knowledge by trying some of

method of short division “lbus stop division”. For a 2-digit P 3 6 O the things here
number, it's a good idea to use long division, which is what —
we'll be working on this week. O

First, think: How many times does 12 go into 36 (I know this

really means 360). | know 12 goes into 36 three times, so | write the 3 above the
tens column, the six. Then | multiply: 3 tens (because it's in the tens column) x 12 =
360. So now | write 360 underneath the original one. | then take away: 360 — 360 =
0. This tells me | have nothing leftover.



https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/414582970/04c6759ad9

DAY 4 RESOURCES:

THINK:
Is it possible to share £3,296 equally among 32 people?

AQuaIi’ry First EQucation Trust

SEE: Watch this video to see how to solve this question.

| will write out some of my 32 x tables first
to help me out. If | see some of these
numbers, it will help me with my division.
32, 64,96, 128.

| can also split up 3296 into pieces which
are easily divisible by 32 to help me. | can
split it up info 3200 and 96.

£3,296

B
To do long division: PR RRRS R

- Ithinkin my head: how many 32s go intfo 32002 100. So | write 1 in the
hundreds column.

- Then I multiply 100 x 32 = 3200. | write this under 3296.

- Then | take away, because I've already shared 3200 now, and | don’t
need to share it any more. 3296- 3200 = 96.

- Then I think in my head: how many fimes does 32 go into 262 It goes 3
fimes, so | write 3 in the ones column. | take care to put a zero in the tens

103 32

64
32|3296 ”

’3 2 0 0 (3200 + 32 = 100) 128
96

—9 6 (96 + 32=3) 3 2 9 6
0 £

3200 96

DO:
1.)
a.) 1938 +19 =
b.) 8154 +27 =
c.) 7308 + 36 =
2.)

a.) Jeff packs 1456 buttons into small bags of 14 buttons each. How
many bags of buttons does he have?

b.) 7575ml of water fills 25 cups equally. How much water is there in
each cup?

c.) A dance team with 16 members shared their £8064 prize money
equally. How much did each member get?

3.)
a.) A factory put cakes into boxes of 16. How many boxes can they fill
with 3745 cakes? How many cakes will be left over?2

b.) A factory puts 15 pencils in a pack. How many full packs can they
make with 5312 pencils¢ How many pencils will be left over?

Deepening:

Write 3 word problems where you must divide a 4-digit number by a
2-digit number. Make each problem have a remainder. Can you
make question 1 have a remainder of 1, question 2 have a remainder
of 2 and question 3 have a remainder of 32

You can also show the depth of your knowledge by trying some of
the things here.



https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/414588266/6bd4cf6e9a

DAY 5 RESOURCES:

THINK: . 7']'92
7.192 people registered for a "Help the NHS" run. My friend Sally 1" - ‘i
wants to put them into feams of 30, but George thinks this is not hrelt "“;
possible, the teams should be of 31. Who is correct? If we divide /@ C3)
by 31, how many teams will there be? fo) o)

AQuaIity First EQducation Trust

SEE: Watch this video to see how to solve this question.

I know that Sally can’t be right because 7192 ends with a 2 in the ones column
and Sally wants to divide by a multiple of ten.

In order to divide by 31, | will
use the same strategy | used
yesterday — long division. If | 31 I 1 2
find it fricky fo know how —]—

much to share each time, | 40

can keep sharing easy
multiples of 31, like 3100 or
310 (like in the example on

the left, in the picture). - Builm@ 10 6
. : 372 -6
A more efficient strategy is to = 10 —O—
share the largest possible % g
amounts each time. See the -6 a 2
example on the right in the
picture.

For questions like this:
Pears are packed into trays of 96. How
many trays are needed to pack 500 pears?

The best thing o do is o estimate. | know
that 96 is close to 100, so | can estimate that
96 will go intfo 500 approximately 5 times. |
can then check to see whether that answer
was reasonable by dividing.

DO:

1.) Division without remainders

a.) 5704 +23 =

b.) 9826 +34 =

c.) A baker needs to pack 5712 cookies into boxes of 12. How many
boxes will she need?

2.)Division with remainders
a.) 2965 + 36

b.) A picker picked 854 strawberries. If she packs them into regular
boxes of 44, how many boxes will she have? How many strawberries
will be left over?

c.) If the picker (from question b) decides to pack the strawberries
into smaller boxes of 26, how many boxes will she have? How many
strawberries will be left over?

Deepening:
Watch this video to see how to find decimal remainders. Then, write a
paragraph about how decimals and remainders are similar and
different. Explain in your paragraph:

- How do you find remainders

- How do you find decimal remainders?

- How are they similare

- How are they differente

- In which situations might you use decimals@

- In which situations might you use remainders?

You can also show the depth of your knowledge by trying some of
the things here.



https://vimeo.com/414580645/e4a13c9c1a
https://q1e.co.uk/data/dynamic/spaw/documents/How%20%20can%20I%20show%20the%20depth%20of%20my%20knowledge.pdf
https://vimeo.com/414565662/5afc72098d

ANSWERS:

AQuaIi’ry First Education Trust

Day 1:
SEE:

How much orange juice is there in 20 bottles like this one?
There are 8280ml in 20 bottles.
How much apple juice is there in 30 bofttles like this one?
There are 7230 ml in 30 bottles.
DO:

1.)

a.) 234 x 10 = 2,340

b.) 234 x 20 = 4,680

c.) 234 x 40 = 9,360

2)
a.) Multiply 347 by 60. 22,020
b.) Find the product of 2304 and 30. 69,120

3)

a.) Show 2 different methods to solve 3124 x 20
Method 1: Method 2:
3,124 x 10 = 31,240 3,124 x2x10=

31,240 + 31,240 = 62,480 %248 x 10 = 62 480

b.) Show 2 different methods to solve 6235 x 30

Method 1 Method 2:
6,235 x 10 = 62,350 6,235 x 3 x10 =
62,350 + 62,350 + 62,350 N

= 187,050 18,705 x 10 = 187,050

4.) Answers will vary
5.) Answers will vary

Day 2.
DO:

1.

a.) 563 x 20 = 112460
b.) 563 x 4 = 2252
c.) 563 x 24 = 13512

d.) 127 x 30 = 3810
e.) 127 x8=1016
£.) 127 x 38 = 4824

2)
a.) Multiply 345 by 72. 24840
b.) Find the product of 9561 and 21. 200,781

3.)
a.) Show 2 different methods to solve 2,578 x 57
Method 1: Method 2:
2,578 x 50 = 128,900 2,578
2,578 x 7 = 18,109 %150_;
128,900 + 18,109 = 147,009 +128900
. 147009
b.) Show 2 different methods to solve 7564 x 39
Method 1: Method 2:
7.564 x 30 = 226,920 7564
7.564 x 9 = 68,076 :sogz
226,920 + 68,076 = 294,996 +228920
294996
Deepening: ANSWERS
a.) 213 b.) 142
x 23 X 22
639 2814
+4260 +2840

489¢9 3124




ANSWERS:

DO:

1.)

a.) 340 +17 =20
b.) 3400 +17 = 200
c.) 720 + 36 =20

d.) 7200 + 36 = 200
e.) 920+ 23 = 40
f.) 9200 + 23 = 400

2.)

a.) 420 sweets are packed into packets of 14
each. How many packets of sweets are there?
There are 30 packets of sweets.

b.) 899 Lego bricks are arranged in 31 rows. How
many bricks are there in each row? There are 29
bricks in each row.

3.)

If I know that 48 + 12 = 4, what other division facts
can | derive from that?2 (e.g. | also know that 480 +
12 = 40).

Some facts you may have found are:

480 + 12 =40
4800 + 12 = 400
480+120=4
4800 + 1200 = 4

48+1.2=4

Day 4:
DO:
1.
a.) 1938 +19 = 102
b.) 8154 +27 = 302
c.) 7308 + 36 = 203

2.)

a.) Jeff packs 1456 buttons into small bags of 14
buttons each. How many bags of buttons does he
have? Jeff has 104 bags.

b.) 7575ml of water fills 25 cups equally. How much
water is there in each cup? Each cup has 303 ml.

c.) A dance team with 16 members shared their
£8064 prize money equally. How much did each
member get¢ Each member got £504.

3.)

a.) A factory put cakes into boxes of 16. How
many boxes can they fill with 3745 cakes? How
many cakes will be left overg They can fill 234
boxes. There will be 1 cake left over.

b.) A factory puts 15 pencils in a pack. How many
full packs can they make with 5312 pencils? How
many pencils will be left over? They can make 354
packs. There will be 2 pencils leftover.

Day 5:
DO:

1.) Division without remainders

a.) 5704 +23 = 248

b.) 9826 +34 = 289

c.) A baker needs to pack 5712 cookies intfo boxes
of 12. How many boxes will she need? She will
need 476 boxes.

2.)Division with remainders
a.) 2965 + 36 = 82.36 or 82 remainder 13

b.) A picker picked 854 strawberries. If she packs
them into regular boxes of 44, how many boxes
will she have? How many strawberries will be left
over? 19 boxes with 18 plums leftover.

c.) If the picker (from question b) decides to pack
the strawberries into smaller boxes of 26, how
many boxes will she havee How many strawberries
will be left over?2 32 boxes with 22 plums leftover.




